Cook, et al.: Combinatorial Optimization
Chap. 1: Problems and Algorithms
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s Selection Sort 0 CO OO ~

void selection(int n, int a[]) {

int i,j,min,t;
for (i=1;i<n;i++) {
min=i;
for (j=i+1l;j<=n;j++) {
if (aljl<almin]) min=j;
}
t=a[min]; almin]=alil; alil=t;
print(n,a);

}
k} J
i || a[l] a[2] a[3] a[4] al[5] al6] a[7] al§]
8 9 5 7 4 10 6 2
1 9 5 7 4 10 6 8
2| 2 5.7 9 10 6 8
3 2 4 7 9 10 6 8
40 2 4 5 [6] 9 10 7 8
512 4 5 6 [71 10 9 8
6| 2 4 5 6 71 9 10
712 4 5 6 7 8 [9] 10

Figure 0.1: Selection Sort O O O
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s Insertion Sort O CO OO ~

void insertion(int n, int al[]) {

int 1i,j,v;
for (i=2;i<=n;i++) {
v = alil; j=1i;
while (alj-1] > v) {
aljl=alj-1]; j--;

}

aljl = v;

print(n,a);

}
}
N J
i || a[l] a[2] a[3] a[4] a[5] a[6] al7] a[§]
8 9 5 7 4 10 6 2

2 8 9 5 7 4 10 6 2
3 5 8 9 7 4 10 6 2
4 5 7 8 9 4 10 6 2
5 4 5 7 8 9 10 6 2
6 4 5 7 8 9 10 6 2
7 4 5 6 7 8 9 10 2
8 2 4 5 6 7 8 9 10

Figure 0.2: Insertion Sort O O O
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1.2.7. Nearest Neibor Algorithm 0000000 (DOOOO0OO)

010,30000
020,10000
030,100000
05~160,n—1000000. 0000000000,
05010000,
070,,0000,080,6(r—-1)000000
0900 100,n—10000
014010000
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O0m-1)14+n+6n—1)+m-1)+1+1)=(n-1)(8n—-4)00000000.
000,0000000000,3n+2+(nm-1)(8r—-4)=0x*)00000000.



Algorithm 1 Nearest Neighbor
Require: n 000000 (21,y1), (Tny Yn)-
Ensure: 0 O0O.
. 0:00ogoo, (xi,yi,mark)DDDDDDDDDDDD. (000,00 mark O 0.)
2: ] «— 1.
3 (z1,y1) D mark 0 1000,
4: for (k=1; k<=n-1; k++) do

5 min «— oo.

6 for (i=1; i<=n; i++) do

T: if (z;,y;) O mark O 0 then

8: if (z; —xj)* + (yi — y;)* < min then
9 min «— (z; — z;)% + (yi — y;)>.
10: 15— .

11: end if

12: end if

13:  end for

14: g — "

15 (zj,y;) D mark0 1000.

16: end for
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Nearest Neibor Algorithm O Selection Sort (Insertion Sort 0) 0000, 0000000000, 00 k
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1.3. Further Readings

0000000000 0000, Sedgewick [1] (D0O0O0)000000. D000DO0O0O0OOODOODOOO
gooo.
O00oooOoOo,00o0o0 [2looo.

00 16: A0 BOnaxnOOOOOOO, ABOOOOOOOOOODOOOOOOODOOOOODODOOOY?

00 1.7: A0nxn0O0000. ADDDOO detAD,

det A = Z SEN(T)a1r(1)A27(2) * * * Qe (n)

oooooo.ood,~0O0(1,2,---,m)00000000.00,sen(m) 0 #000000. 000000
O000,detADDDDDOODODOOOOOOOODODODODOOODOOY
00,Gauss 00000000 OMR)OOOOOO.00000.
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